SSC L (GD) Utel, &1 U99-u

Held on : 04.10.2015 (2nd Sitting)

Him-1
T gfgwen vd wedhvite
(General Intelligence and
Reasoning)

Prwr (1-4) — Frafafan wets woa o

fow o famedt F | fvm w i @
Hifo

Provfafs & @ - srgfy e,
TH it ofwdl & dfte waEew =y
Tt & ?

©0|cmo| Y’
(A) (B) (©) (D)

(A) i (B) ¥

(C) = (D) Twena |

(A)424 (B) 631

(C) 432 (D) 460,

(A)YVX (B) QNO

(C) EBD (D) IFH.

afe 3T wear B @S-8 5 oy

&1 9 51 g ?

(A) AEOIT (B) AIOE]

(C) AOUEH (D) AIOEU.

T 3T W R A W R wow 9w

A ¥ 3 8 fawtdt 3w § W &, e
6 faddt qd & wmar ¥ 38& @g 10
ferdit ard st ¥ aiv fove 4 famdt amd
wrar ¥ 1 3ua A 10 fadt 3w d ain
ara ® 4 fadt 2 wen ¥ 1 3@ Ewg Ay
A W e | fea faar g 2
(A) IW (B) zfeor-gd

(C) =fem (D) 3a-gd |
fadr (7-8)— freafafaa waw wea &

fer o 393 A | @ dEn F| Hifaw |
7. 3,8,10,15,17,22,24,?,?

(A) 26,28 (B) 29,31

(C) 29,32 (D) 29, 34.
A,Z,B,Y,C,X,D,W,E,V,F,U,
G,?

(A)T (B)R

(RY (D)S.

Wy AHTA ® WA w0 wA-dt
IAT I TG A WAt § ?

Oﬁqb

10.

PD

(A)  (B) (€) (D)
fedt =rs & TEMPLE =
METELP foran wrar ¥, ar 3+t #rz
¥ FAITHFUL =Y &3 frar smo ?
(A) TIAFLUFH (B) TAIFULFH
(C) TAFILUFH (D) TIAFFULH.
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. ®WA-dt IET aRfa wew angfa &

wfeea &Y g st ?
T WA

p1A[O
pIOD
CRE
d1D ¢
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(General Knowledge and
General Awareness)
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(Elementary Mathematics)

SS.
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qr aar A ko uf
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(C) ¥ 35.000

(B) T 25,000
(D) X 50,000.

. fardr 10% ¥ g2 33 % wg o

20% T AW wArAT €1 afE i dT
T =T W i ¥ 750 ¥ A e v
e g ?

(A) T 5200 (B) ¥ 5000

(C) T 4800 (D) T 5500.

2 YIS WSS T AN I ant
& 9w 20% ¥ i IE wt &

i?ﬁ%'?ﬁswirm?
1 3
(A) ®)g

(C)% (D)%-

. 8 =fwwal w1 sfrew o 3w wwg 25

foran wy e & o 3 @ 65 fea
o & T S ® T WU
wfes am wrar ¥ 1 T e w5 7w
ok ?

(A) 84 f&m (B) 85 f&m
(C) 76 f&m (D) 765 fawmm
. afg T 510 wY A, B wd C % e g0

v favifom fsar o s A WY B

59.

wmmmmfmm
aftr B =Y C =Y fier arsft wmnfor =y

:mﬂ:ﬁﬁmﬂwm:m

wrm ?

(A)T150,T240.T 120

(B)T 60,90, 360

(C)T120.T 240.T 150

(D) T 150,300, 60.

%© =fw uw w40 for F w5
w4 ¥ ) afz § =fes offy fomr and, &
aft wm 10 fox w9 v F qoon
wwa ¥y § wm F e fead
=fw e & ?

(A) 20 (B) 24

(C) 30 (D) 16.

8§ weat affr 12 et faredt wrd =1 9
fo # qur &7 § ) vAE TS W wd
QO H W A ® qe d I
wg Frar £ 12 et 36 wrd
e i gt 7

(A) 9f= (B) 13 ==

(C) 12 fa= (D) 15 f=1

. U #gH & fHAT gwET ug wi

it 3t wrAftaw andar & e
Te | 20 : 19 % 3 9a § 79g Far
Tiofg qu &t g 5 diew bt A

Al =g fma g 2
(A) 195 Hi=x (B) 192 Hr=t
(C) 180 #r=x (D) 190 =23 |

frder (61-62) — Fr=ifefas o¥-=% &

Iu FfE S, T, U 3k V 1 =9 o3
WA TR I FAAAR T 72 w3 Wk
-9 ¥ AT HirAy 3K v F IW
e

61.

4
<Y

wofral Vel U & wronr vrar o
et ?

(A)TZFTZT  (B)T9*w3
(€T 6wg (D) T 4 w0

. sfurman W vraw st woeh wW-
HE?
(A)T (B) U
©s (D) V.



https://rajasthanclasses.in/category/latest-post/
https://rajasthanclasses.in/category/latest-post/

6a. Rgi?mvﬂtm!ﬁmwz;m

woy wid | 3w an fn s
S 7 AR vk € 22w e

70w A fad ) I fwed wfver sy
o e ?
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. ofy feeh v =t fear 10% w=r @
WY A YW W YAEH fww wW w
g ?
(A) 89%
(C) 19%

(B) 18%
(D) 25%.

. R x, y ot s st S+ V11
a-/n
=x+ W11 ¥, 7 xafc y & am s
B ?
-14 -13
7 ™26
Bl 11
(B).\-13.3-=ﬁ
o
e )
_=37 =13
35 VT3
. B: Jral W i warg 167 ¥+ k)
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o I wrae @t A fRet g ?
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(©) 160 (D) 1116,
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. U ufy-usft wt aftww g I
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uftar it itwa sug et k2
(A) 29-3 =§ (B) 19 74
(C) 23 = (D) 28-5 54|

. U% 200 viey et temgt 72
ot /quer =t nfa | ww ¥ 800
Wiz Tl Q& W U HT W I e
|/WG w2
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WT-4

ENGLISH LANGUAGE

Directions (76-78) : In the follow-
ing questions, some parts of the
sentences have errors and some are
correct. Find out which part of a
sentence has an error. The number of
that part is the answer. If a sentence is
free from ervor, your answer is No Error.
76. 1 have been waiting for you since

two hours.

(A) for you (B) No error

(C) I have been waiting

(D) since two hours.

77. The camp beside ours has been
built in 1966 by John’s brother.

(A) No error

(B) by John’s brother

(C) The camp beside ours

(D) has been built in 1966.

78. An idea was worth nothing if it
has no champion.

(A) No error

(B) if it has no champion

(C) An idea

(D) was worth nothing,

Directions (79-81) In the
following questions, out of the four
alternatives, choose the one which can
be substituted for the given words/
sentences.

79. One who pretends to be what he is
not

(A) Hypocrite  (B) Tumcoat

(C) Liar (D) Actor.

. A container for the ashes of a
dead person
(1) Vessel (B) Vase
(C) Jug (D) Um.

. To put two and two together
(A) Proud (B) Good friend
(C) Selfish friend (D) Understand.
Directions (82-84) : In the

following questions, a part of the
sentence is printed in bold. Below are
given alternatives to the bold part which
may improve the sentence. Choose the
correct alternatives. In  case no
improvement is needed your answer is
No improvement.

82. One should keep their word.

(A)One's (b) his

(C) everyone's

(D) No improvement.

. No economist can accurately
foresee whether tax will go up or
down.

(A) expect (B) anticipate

(C) No improvement

(D) obviate.

. Journalisn and medicine would be
two of his career options.

(A) No improvement

(B) could be

(C) will be

(D) might be.

Directions (85-87) In the
following three questions, choose the
word opposite in meaning to the given
word.

85. BEAUTIFUL

(A) bountiful

(C) bizarre

(B) unique
(D) ugly.
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86. ADMIRATION

(A) blame (B) contempt

(C) disapprove (D) despise.
87. NOISILY

(A) loudly (B) quietly

(C) clearly (D) distinetly.

Directions (88-90) In the
following questions, four words are
given in each question, out of which
only one word is correctly spelt, Find the
correctly spelt word as your answer.

88. (A) entusiasm  (B) enthussiasm

(C) enthusiasm (D) enthusaism.
89. (A) compelsory (B) compullsory

(C) compulsorry (D) compulsory.
90. (A) complacency (B) complacensy

(C) cumplacency (D) complicency.

Directions (91-93) In the
following three questions, out of the four
alternatives, choose the one which best
expresses the meaning of the given
word.

91. DRIZZLE

(A) Sprinkle (B) Trickle

(C) Splash (D) Downpour.
92. INEVITABLE

(A) Significant  (B) Unavoidable

(C) Crucial (D) Undeniable.
93. ENORMOUS

(A) Petty (B) Warchouse

(C) Immiense (D) Trvial,

Directions (94-97) In the
following questions, sentences are given
with blanks to be filled in with an
appropriate word(s). Four alternatives
are suggested for each question. Choose
the correct altemative out of the four as
your answer.

94. Jones is a member of our......
(A) coup (B) council
(C) counter (D) counsel,

95. He has been staying in Delhi......
a long time,

(A) for (B) since
(C) from (D) ull.

96. A man from our village has been
nominated...... the ruling party’s
candidate for the post.

(A)to (B) as
(C)in (D) for.

97. We get milk from the......
(A) dairy (B) daily
(C) daisy (D) diary.

Directions (98-100) In the
following questions, four alternatives are
given for the Idiom/Phrase prated in
bold in the sentence. Choose the
alternative which best expresses the
meaning of the ldiom/Phrase as your
answer.

98. His frequent journeys are telling
upon his health.

(A) threatening  (B) improving

(C) informing (D) affecting.

99. My kith and kin congratulated me
on my brilliant success.

(a) niece and nephew

(B) father and mother

(C) relatives

(D) colleagues.

100. Television has become part and
parcel of our lives.

(A) status symbol

(B) unavoidable luxury

(C) important part

(D) showy part,

firt wrar

o (76-78)— fau 7o ww =i § uw
T yG ¢ A 9 s €1 v T W
e ae Iw-yfea® | aggar Fen wif )
76. (A) F=a 34 =1 7T ey

(B) =2 | gu = dtan

(C) 39 & dim &=

(D) %= gu & )

77. (A) 7% @ 3iT vgrd <6 s

(B) @t 97 & fou st e A i |

= ¥

(C) 9% @9 ¥ 3iv ward ¥ 31 & fag

=t ‘

(D);sﬁaﬂmwﬁﬂzﬁfﬁm

I
78. (A) FY0 W W 3 F FqH |

(B) R 31 # F1 L

(C) B W 31 F1 F9 HL |

(D) F9 W W F HA FF9H

Frder (79-81)— faw e vl Arin
fom o v i1 v fomg =m-aw faweg
fae me ¥ 1 3fem fawes w1 g #ifaw s
IW-qfew ¥ qEn Fen Fifaw )

79. WM gFAR—

(A) 3R

(C) 3w

(B) 3fy
(D) 111

80, < @l W AT AX—

(A) fomamt (B) geed

(C) FEraT® (D) fozzndt
81, ET ATar F A HE —

(A) g™ (B) 999

(C) #mx (D) T4 |

frdyr (82-84) — fau o Al A | Fo
i Hfeal # of o & ¥ @ F o wm
¥ gfeal €, 30F ATET A AW TR
gr R FAF TR A FE IR AN
‘ard qfz Tl A A F e @
it 7 Fen F
82. ¥W A MU, %6 fead wid v

ATTH T M~

(A) T 9T T

(B) #é fe Tt

(C) 3T ama 3 MY

(D) o fFam =l
83. snfgai ® #31 facelt Fo1 & WA H

WAteT T T ot —

(A) weitem T T ot

(B) wfedi § ¥3t faeei

(C) Tl & 9 &1

(D) =r¢ Ffe 7
84. = v €1 € w2 W | a7 e

/T AT R/ iR -

(A) ®1¢ Ffz T

(B) 9t & v =

(C) o=2 W § 7ot feret &1

(D) =i & #1381

fFrder (85-89) — fa mu sg=de & fiw
w1 3faa v g g % fow 9r-ww
faweq feu mu ¥ | Ivgw fawey gfaw aum
IW-yfer ¥ aETER Fen Hifa

E L

St d gwer it fawerm w9 % wrm
foeret & 1 79 %1 g7 Swey wfs e o &
2T T & | §ER A5 g% fae W €
71 #1..(85)... 9™ Fd F3 & e @

-=afe # fred| o 3@ &, 3o frowm =

AR FT A ¥ A...(86)... 5 srwerar €
1 T &) W@ w5 w0 gy e
F1 T1...(87)...%1 5 ¥, qfg Wt T W
Wt ¥, q@ WA F1..(88).. vfF T sOn
EALIEUECIR AL (= 0 BY B TeTE T
Fd a1 4, (89)...wra € st )

85. (A) @ (B) w1
(C) W=7 (D) fas=

86. (A) fawey (B) wfya
(C) =+ (D) d%e9)

87. (A) ¥w (B) fofy=
(C) framita (D) nfasiter |
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88. (A) 9foms

(B) waro1
(C) uftam (D) | |
89. (A) gaer (B) sraemm
(C) = (D) freamoman

frder (90-92)— fow g w=E ¥ waig
(wardE we) ¥ fou wR-ar fawe R
m ¥ 1 3fam fawen gfe aw sw-yfew o

AR Tl HHforg |
90, it
(A) FH9N (B) weraa
(C) srd= (D) 3 |
91. wwA
(A) Tawd (B) 3191 Ha
(C) 7 | =rd =&
(D) #rFwd |
92, fiyer
(A) ®TeafTeh
(B) ¥ 9 #ré 7
(C) g
(D) g=411
1. (A) 2. (B) 3. (B)
11. (D) 12. (B) 13. (B)
21. (A) 22. (D)  23. (A)
3. D) 32.(B) 33.(©
41. (A) 42. (D) 43. (A
51.(C) 52. (D) 53. (A)
61. (D) 62. (D) 63. (A)
71. (A)  72. (D) 73. (A)
8l. (D) 82. (A) 83. (B)
91. (A) 92.(B) 93. (O
fe=dt v
76. (D) 77. (A)  78. (A)
86. (A) 87.(B) 88. (D)
96. (D) 97.(B) 98. (O

1. (A) o= o G gl ge @ e 2. (B) W # vrgwy, = ot fgfwfta 4. (B)

S

14,

79.
89.

ERFRRERER

frdwr (93-95)— fau o = A e
Al % 3faa v g il & fer am-=m
fawey fed ma ¥ svgw fawe gfw aq
-t # AGER Fen Ff
93, wmarit ¥ sfiEeTdt wY w2 F Ay

(A) yegdfewma (B) g1
(C) Tt (D) sfv=afes FE
94. ¥ waEn g T A K
(A) @& (B) gt g
(©) fromerm (D) fafm B
95, VTTATAT & WY WiHa wr o B
Eui gl
(A) mrg= (B) fugvma
(C) Ty (D) vrgur |
frder (96-98) — few Ty wr=l A ITYH
faeiy aaRt ¥ fau aR-91 fages yeafaq
¥ 3fm fasew &1 997 FifaQ 39 IW-
gfiert ¥ AeFER wien Hieg |
96. frde
(A) Fre (B) wgfwa
(C) gftm (D) wfe 1
SAEAT
. (B) 5. (D) 6. (D) 7. (B)
(D) 15.(C) 16.(D) 17.(A)
.(A) 25.(A) 26.(C) 27.(0)
.(A) 35.(C) 36.(C) 37.(D)
(D) 45.(D) 46. (D) 47. (O
.(B) 55.(D) 56.(B) 57.(B)
.(C) 65. (D) 66. (A) 67.(B)
B) 75.(A) 76.(D) 77.(D)
(D) 85.(D) 86.(B) 87.(B)
(B) 95.(A) 96. (B) 97.(A)
(A) 80.(A) 81.(C) 82.(D)
(D) 90.(A) 9. (D) 92. (O
(B) 100. (©)
IO TS wigd

Frfoat €1
3. (B) ¥4 631 #1 Brga, = ol ¥
wermd €1

97, HTEEr

(A) FEE (B) R4l

(D) stfavarg (D) T=¢%1
98. T

(A) rdt (B) @

(C) 7 (D) =

frder (99-100)— fau g qerad 3
Al  ad ao ¥ fog ar-ar fawed

f3 m ¥\ waw ¥ fog Ivgw sd awen
famen qfy 3itt Iw-gfa § aggan Hen
wiferg |

99, =T =T U
(A) 9l FI F9rE FA FeA
(B) @A 1 fumA =
(C) it = & @l
(D) TUR ¥@ ¢ HTA
100, aet yq & qHg &
(A) 3@ & S
(B) 39 % WK ¥ A €
(C) #reafvd Tagar &
(D) it g
8. (A) 9. (A) 10. (A)
18. (D) 19. (B)  20. (B)
28. (C) 29.(C)  30. (O
38. (B) 39.(B)  40. (A)
48. (B) 49. (D) 50. (D)
58. (B) 59.(C) 60. (D)
68. (B) 69. (A) 70. (C)
78. (D)  79. (A)  80. (D)
88. (C) 89. (D)  90. (A)
98. (D) 99. (C) 100. (C)
83. (D) 84. (B)  85. (A)
93. (C) 94. (A)  95. (A)
y=.v-22,.x
Q—- N0
E——+ B —2=D
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10.

MMA E O I T
A
1+5+15+9+20=50

A 1 O E ]

L L]

1 +9+15+5+ 10=40

A © U E 'R

| |1

1+ 15+21 +5+ 8=50

A 1 O E U

411

1 +9+15+5+ 21 =5]

(D)

B 6fedt. C - F4ﬁm‘i‘g

E -

o0 =)

N ﬁqi

D4fm‘LE
T

Ll 1

ufaH o
= <1
e

fag A F3m-gd ¥ fag G #)
(B) 3+45=18
8§+2=10
10+5= 15
1IS+2= 17
17+5= 22
22+2=24
24+5= 29
29 +2= 31

(AJA—=B—+C—=D—=E—=F=G

ZoY-=X-=W=V=U-[T

(A)

11.

12.

14.

15.

16'

17.

18,

19.

4 TR,
F £ 1T T H EWULEL
T I A F L U F H

(D) ¥ agan # TEs & s ¥ IH
WER, T3 F forerh § TR S i ¥

(B) A K — E P
L | +s 1
+5
I YR,
X D— C I
-
+5
. (B) (2=8
(3)% = 81
(4)° = 64
(5)* = 625
(D) a1 %1 TEE § A ww A S

F1E T #) I TER, [EE F I
ST W T ¥
(C) o e & —
4:45+40:50
5:35
6:00-5:35=0:25
= 25 faae
(D) weeit sgfa -
3+49=8+4
T g
44+7=6+5
ded angfa
5+7=9+3
= 7= 12-5=7
(A) T=F9 ¥ FER w2 F1 FH—
(2) Collegtate
¢
Collinear
{
Collision
i
Colloquy

(3)

(n

(C))

(D)

(B)

21.

27.

. (B)

- (A)

il

TE = |

TEl= 1+1=2
ad= 2+2=4
FE = 44+3=7
ﬂé:o T+4=11
= 11+5=16

(A)

. (D) #1é fows ansfea w famem w

a1 34 A T 78§ @@ a &)
= faamdl =1 fafostg sd=m) 3m:
Fae frewd | e &1

. (A) fzu o v # U 3l T ¥ ) 9

= SITUATION =&f @=ma1 |1 9% |

ADMINIST [R] Al T 1]O]N]
= RATION

AaomiNi [S[TR[A] T[1]o[¥]

= STRAIN

A[p]m[1]ns [TIR[A[T[1]O]N]

= TRADITION

. (A) ¥ O § U g9 a9 D Fgan

%199 991 sFger F ST e 3Em
feamd €1

R = 59,68,77,86,95
U=> 56,65,78,87,99
D= 01,10,23,34,42

E = 02,11,20,33,44
faseqa |[R|U[DJ[E
(1) |59|99|34]11
(2) |77]|56|02]| 01
() [95]87]|42]12
@ |55]6s[10]33

. (C) o€ ore=m (1822-1895) 3 waugm

gt & ¥R, U= v wenE o E
farg &% @1 fawm foa | =413 woim
H faum] %1 @@, 6% wwifam At
FA® F YA, A9 @ I F)
fﬂmfﬁmmiﬁ:aﬂw& 1885
#1 & A mitg @z IqF (FHF)
immmmmfaﬁqa:m:ﬁ
3 H121 1| % F 9E A wma aw

(C) T g feam =ndi fagwr= &
FHEE W12 F7E # wre § e
o #1984 F wiva wEw 3 39 foa
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STy aw oy v owsy

31.

32.

M IS F AR A a7 g1 =d wg A
WA A

. (C) a7 WA ¥ uwwrfiss difrs vs

S W1 HATEA F HE A & 5 A
v F) e v v T @ g
StETeE T FEETA (H*) 30 7ew @
wer faean s 8 1 weerfoon, sfsamz
¥ sifeanes w2 W vk wm )

« (C) T, forewn, aegsll o Al %

wgfa it #t qfd sufde nfafafiat
T 1 1 nfefafudi & dom veis oo =5t
wanE #1 3o F Fwrw, @ Tu
#! favfa & ¥ ¥ f gein danm A
foa ywnr smEfza fem wmw 3%
frefafas F=ta avenall 1 3=
Fra ¢ Fomw vas sderara g
ang fem s —

e T IAEA FL?

o FAsmEASH?

o frus fog gams w1 2

A waemd F21 geEn sead €
wife 7 9ft U degaeg #it gfad
aaand ¥ 3 s wvt gwend mE
B8 g H o

. (C) v # U% wiehiud unm 98 & %

3 U nimeite sderaen Hdfq El
Fdegaey ¥ oftada €m @, § 39
e ¥ o adegaen wwl 1
afads € €ren; =€l @ oy T 60
awa €2 R, A, vk 4 o e
an @arn W Een fE e e
Hfvir ¥ #1 39F fagr F sgEn
™ atg F IERA a0 TE wHa H
W= 1 e e & aeg e
afad %1 o g )

(D) 11677239!‘17&?!11&?131?351
quﬁvmmwmtsﬁt
wa i & @ 22% ¥ 7 2014

% faya sEEn # 16 wfaw s4iq

11 fferm s wfed E0 FA& F
smard aven e o ¥ 1

(B) @ 300 ¥ [ & SE-WH,
s % 2N, 93T q 3 feeed
A S T ARER H T

mmhwmtmmii
g ¥ fraee =& T I

a8l o S T TwE % w9 A T
fe e 3t &7 0 & W@ T 3

-

3s.

37.

39.

‘Hw 4 & Al (AT W)
3 Sta ) gura e

. (C) ¥t s fifw 28 Yemd, 1979 |

14 Fadt, 1980 7% WA TN ¥
AR @ 1 3A fft ST F T
qFeam § At sf=a it s T
weaqIfiral #1 "ol 1 ¥ R
wftomrerey widg et Fie A
T&ER |/ J9 Tl agw A faa 5w
FTU IR I wiya wEE & A
g w9 & | T ¢

. (A) ‘9’ wra v wfeEr ¥ ufvad &3

TR-feF &9 F IR A 7w T &
ofyast, T, e AEd @ ¥ Tw
fardrot o A o § WA o ¥ T
Ed 9 A99 TE SfEd ¥ H W
TR T 2 9w () o ¥
(C) wairEra T A = i § wea 46
/A 71 319 FO F TH HIOES oW
e wgteE @ Fom 9 wwa b
Tfas TEEe ¥ IR T,
w@ wE TR s &1 FhEm EEeE §
T2 g (Haze), ¥&, 91 9q0+ 01
TE yai e

. (C)mmfa:a%faﬁm&:ﬁx’fmz

dr gt e 10 =6 F 7 W F 1 TE F
forg wr@ § sEoET 1871 R W 10
ad T srEfAd @ T & | A
wafirs 3iva uE ffvaa aga 3w H
T3 A S & A, FE AT,
S S v 3aS vnifas famm
= I R
(D)ﬁmaﬁtmmsm.zonﬁ
et zfam s § 95 @4 #1
e § fvA € T SEA 1994 A
1999 7% 2w STHiE & Tgf & ¥
# #rd fean | A ¥0 & 9n FEd gHA
Friw@ wfged wd g ¥ A
Hraar=s g | fraifaa =ifs 41

.(B)mmmmaﬁm%

fatyarvrel % wewy (Continent of
Conuasts)ﬁiﬂﬁmmtlm
fafavar sifes wafaro s @t & FER
¥ gm ¥& o ¢ AfF gepha, W,
v v e deh i wrl wwena o d
1 fire &1 =1 IR 0 7% g
¥ R #t woag &3 @ E-fe
mﬁaﬁﬂ,ﬁwﬂmtﬁmt
< I seerd 3R T E)
(B) wi=a shafms 2012 & ufeen
sirdreA § W2 faea &t faen
e 3 vemde (51 fem) ¥ = E

41%

42.

43.

45.

- (A)

.
i wafE &S # W FA6T A @
w2 wfan | v A N A e wE
| STEATE # w4 T A wEAE
(60 famr) ¥ wol yaw @ wafw w1
= e shfarran 3 T TE W
=qefrdvs wfeensil #1 1893 "
mmﬁwwﬁaﬁ-mﬁ
3 aren yeen 2w o) Ay wfgensif #
1919 7% q7ma ¥ W ¥ A JH ™
mummmmmzi

‘ud Shfeifaar 29 g 1906 | 1915

% 2hm o T A

(A) e fawm | W€, 1897 W
g & yqu fira fadwE= 3w
wqfag fRal T UF TOOET T
A 3| TE qeaed g 9
@@ § Frewm & fwe deg we H
frorg %1 7% AT w A wow g
9w T R

(D) =wf @Wd ¥9 (nimbo-stratus
clouds) f=t g &, St TR T W
2 & | 7uf W@ ¥ TR W g q
mzﬁzmﬂt«immmm
i % o &, o was W AN
I 3w TR TR A gfe
yad | YEEd § [ AW Tt
arqves § fact & st

(A) ‘3" T TF TS RA B
% FfEE B g W oI T ;W
' e Tl g € s I T
e '’ v R T WYET F A F
fawg o, <. . ¢ U @ @
tardts A fer 7 g € ) g wEn
w3 T wE e =i waw A
aE T A @ @ A TEA & 7y B
T WYE A =fwal # (3R A, B,
O (T AB) 76 2 w&dl £ |

.(D)wﬁmmmmmﬁ

@m@mtmm
#rfifyran & wwew g &) TE e
FINE FEe § FiE TE A T
2 ¥8 — T T w2 o gwa ¥
Tt Fara H W HA F fag T R}
aifym |z % WY IAEN B & W
A e o s frderee §
e ¥ W } T wa €S
) worm ¥ o wan v fag R ¥
7 v Hrgd 9@ o wen ¥

(D) it TaTeeg d T, e @
st Tva g F snta sm@ ¥
I ¥ dfaue Ft wedl g § 1
gt g g-10 F 61 wef (e H W
T & 66 7% 2) Al vw g ¥
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47,

49‘

. (D) ¥ i 71 9w wrE # gF

& Bl a2 T Fawre wdEw ¥ w9 A
1970 ¥ ¥ ffm 7@ @) 793 qu =
TF TR qg@ w4 VA Senfea
3R 3 1 Ft A AW wRa w gf
TR AT 3N IS oW T )

fererd 4 3 g =1 e W
fefoea Fvaer-werms @t Fos
(ABC) 1939 1w 1942 ¥ = amdafan
we gfafddt smfe § o g .

280 =t gifore Awgm @
1 gat . # fofea faam ae A

3
4
|
£
E
2%

. (B) e w7 Ffim 1857 & fage %

A Wi F wadr FAE (28 wEd,
1856 | 21 =rd, 1862 7%) W )
fagie %1 TR F o vl ¥ o 3
1858 ¥ WRE 1 Y& AEEUT qAl
™ 911 e 1859 F = fagwe ¥
T A g dmai F forw fafew
T F T gEAl % SR W R
(D) ot sfufemsl &1 o, 9
Tfvarr sfyfemst 7 sl &
TR (REA) — il Gode B = mige?
¥ FTAR F=AWE HA1 § uREfdd € s
?1 4% S @ srawifen s oA
affEn & Q-um & ®y § WAl 9t &
(% wftwfemiz g9 3ife gl ; o st
TEE) | Q-9 F wils, ARfivE wE
= 7euEl & 4= F I3 F I
Fol # g Agradt @ & # wfoanfem
AL
e Fwiadt afufdEar (Exothermic
Reaction) —Fweydt sifufan 4=
e sfufea €, fred sfufiem
¥ YT T I Bt ¥
IR — TEZ9A U AfFE H
ok ckEakenfl
2H20 + 02"’"20 136:74 Kcal
TSI A W
e FHvindl AfufFar (Endothermic
Reaction)— st sfvfwar 4=t
et Aty € foad s
L8 16 g :
FEE — A/ VA AT &
dam | Tmfew AlFaEe 1 950
N, (TEgI=A) + O, (3fFiH) ~
2NO (Ixfzw sfFgEe) - 432
et Feardt

50. (D) wifees arr & g 72 W 3w 70
¥ d= 2w =, wefaw sk
fagsnfrn wfeew 29 o wive €,
wats arefan st fayanfrn #1 =2
wAEEn Afees At F w9 § T S
t wd w2 % @m fefr wm oom &)

(C) & = frae famt o9
90 95 _gs_)

S1.

=?(18.000x 100 X100 X100
=T 150822
(D) sryvare 9

750
=(15)rﬁ/ﬁ'—n

S2.

2

= 525 faftrava
T = T (60,000 - 10,000)
= ¥ 50,000
. _ 50,000 x 15 x 2
B 100
= T 15000
(B) &4t &z % fesra e

_ »(120
= ?(100"750)

= Y4500
'ﬂﬁ:mm:?xﬁﬁ,

2290 _ 4500

100
= o 4500 x 100
0
= T 5000
55. (D) ¥¥rEn,

X+y= (x4 x

53. (A)

54,

1
5
x+y= (@-y)x]
ey 22—y
- R R

K &H

Sx2 - 5y2 = 4x2 + 4y?
5x2 —4xl= 5y + 4y2

x'z: 9_\'2

$ 88

x= 3y
x+y £+
X - 5x
924y _ 102 _2
Sx9 45y 9
. (B) T4 =f® ®1 a9
= (65+8 x25) f5m
= (65 + 20) fFm
= 85 f&m
. (B) W¥AT{ER,
A+B+C= 510 ...(i)

==’2C-l-31C2+12C=510

17C= 510 x 12
510 x 12

"~ C="1

C 360

Bed=3 -9

=T 360

58. (B) sy ¥ =afwdl 1 den
= x (3r)

M,D, = M;D, _

xx40= (x+8)x30
4x= 3x+24

4x—-3x= 24

= x= 24 5fs

(©) 272 w | FEH

S B + 12 SR - 16 3Rt

2 M1D|=M2D2

16x9= 12xD,

_16x9

=
=
=
59,

-

e

60." (D)

5 Wt
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61.

62.

e Z8, v W (At e frma R
2n(r+5) 20
22r 19
r+5 20
-~ AR
r 19
= 20r = 19r 4+ 95
= 20r-19r= 95§
= r= 95 wdex
o, SR =W = (2 x 95) dew

= 190 =

=40
(D)mm=]20°=bmv

1 (A)%mwﬁw JUET F FE T

=20 an
—]2x30-?50

¥ fama qea et 24 avE @ faeg
"{N 2x2=N4

o = 2 (50— 44) =
ot % = g%xloo=12%

. (C) vt &t

»
(?.I-i-l(—»)%
(2 x (- 10)+w) )%

= (=204 1)%=~19%
5+\/_
3-2/11
__(5+\/—)(3+2\/—)
TG-NTDHE+2V1D)
(€T 1 YHTH FH W)
15+22+ID\/—+3\/—
9-4 x11
_37+13V11
- -35
fxeyVTT =53 -3V T

- 37 13

R Tk AT
(A) dta el 1 F1 e
= (6 x 167 ~ 162) &t
= (1002 - 162) #ft
= 840 &t

(D) &&=

s, anfre st = 8;": 168 At

67. (Bl +243+44+ ... +n
nin+l)
= 2
LI54764...+97
=(1424+3+...497)
~(1+2+3+...
_97x98 74x75
R
=4753-2775= 1978
68. (B) 50 ¥zt v a1é W H AR
= 50 x 50
= 2500 =t fi=x
100 2t 0 A @A 1 A
= 100 x 100
= 10000 =f &t
2500 = Hex = 750 fHm
. 10000 = Hzx
750
= 2500 ¥ x 10000 f&m
= 3000 f&m
69. (A) fn[&t ABC & &I :
LA+ LB+ £LC=180°
A:B:C=3:4:5
LA= —35 x 180°= 45°

/B=2 «180°=60°

12

5 o °
LC= EX]SO =75

70. (C) 95 %1 @A §&4
= T x (W)
TEIER,
120 40 x 90
X100~ 100
- o W0
120

zt:%g%nﬁud

2 Ay x §HE x &
& = 100

_ 2600x20x T
T 3x100
oA Egg =339 .

) 8)2 - (35:8)2
7. ©) == (75 8[40535 8)

_ (758 +358) (7158 - 35'8)
i 40

=330

71. (A)

1116 x40
= a0

|

+74)

73. (A) Y * fau %% 4749

74.

75.

76.

81.

. (D) Beautiful (Adjective) =

150000 x 105_ # 457500

100

Y % forq fagws e

157500 x 98
= "==200 =T 154350
oo X wmem
=3 (157500 - 154350)
=T 3150
(B) ufrar %) @ 748 A

=(2x2342x5+ 1)
=(46+ 10+ 1) 7d =57 7d

mﬂzsﬂm:?: 19 7
(A) TomrE #1 9@ = 72 fEeAm

2x5
( .2 )m

20 #A

n

U}

v Tg
mﬁwgg ) 1 T
i'arrr?r'eﬁava
(200 + 800)
20
1000
20 = 50 TFvE
(D) =&l period of time ¥z & | ¥:
for two hours 31 W4T #1711

]

. (D) =&l yawm™ T ¥ #@: Past

simple @t was built in1966 1 ¥4
i

. (D) 7l Present Tense @1 is worth

nothing 1 WA &1 | 7€ UF HHA
FuT ¥

(D) Put two and two together = to
guess the truth from what you see.
hear etc.

are B war 2 —

he is inclined to put two and two
together and make five.

. (A) One %1 possessive one’s ¥ |
. (B) Anticipate = J{HH T (1o see

what might happen in the future).

. (D) Might is used when showing

that something is or was possible.

. ™=
(having beauty; very good).

Ulgy (Adjective) = &7, 3{
(unpleasant to look at; unattractive).

. (B) Admiration (Noun) = ¥&m™

weiE (a feeling of respect and liking
for somebody/something).



https://rajasthanclasses.in/category/latest-post/
https://rajasthanclasses.in/category/latest-post/

Contempt (Noun) = 971 (a feeling
that something is without value and
deserves no respect at all),

arer ¥ AT A -

He looked at him with contempt.

I have great admiration for him as a
writer.

. (B) Noisily (Adverb) = Fiemergoia
A, ¥R A (extremely unpleasantly or
offensively).

Quietly (Adverb) = wf= | (with
very little noise; peacefully).

. (C) Enthusiasm (Noun) = 3391% (4
strong feeling of excitement and
interest in something).

. (D) Compulsory (Adjective) =
sifard (that must be done because
of a law or rule; mandatory).

. (A) Complacency (Noun) =

HTHJME (a feeling of satisfaction
with yourself),

. (A) Drizzle (Verb) = $&R, @i (to

pour a small amount of liquid;
dribble: sprinkle),

When it is drizzling, it is raining
lightly.
. /B) Inevitable (Adjective) =

, FEYRE! (that you cannot
avoid or prevent; unavoidable).

arey o wan 3 —

It was an inevitable consequence of
the decision.

. (C) Enormous (Adjective) = faum,
ged (extremely large, huge,
immense).

98.

”.

e o A

The problems facing the President
are enormous,

(D) Telling = showing effectively;
having strong effect.

(C) Kith and Kin = 7m zmmft
(friends and relatives).

100. (C) Part and parcel = s#fv= #7

(an essential part; an important
part).

A ¥ i 2 —

Keeping the accounts is part and
parcel of something.
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